1% =2

1 ANOEHEFE  (R2-1,2-2)

-
FA ANODHERE FE HHEHEOHR
6,100 2,380
6,080 2,360 — —
2,340 [ I R N
6,060 P
2320~ 1 HH H H 1 H H = M H
6,040 o HHHHEHHH INENENENE
6,020 2200H HHHHHHH H H H H
2260 1 M1 1 PO H = 1
6'000 2v240 < H H H H H H H H | - - |
5,980 o HHHHHHHH ANENE NN
20 HHHHHHH HHHHH
5,960
o 0
174698 118 1s&18 38 58 7H 98 11498 1A 18R 3@ 5A 7R 9B

TRUISEIAIRRAEDFERHEST ADO(L, 6,077,632 (53,038,164 A, %3,039,468A\) CHIA LY2,157 At&mLT=,
(1) BZEIL, 1,099 A (FTER A H10AN5H) (2) #EHBIL, 1,058 A1 (RIER A #6177 A58)
TR18EIF1BRAEDTFEREDHBHIL, 2,360,863t THIA LY2,420tH 81 MLT-,

2 B, F@kME. ER

BT arMo R (BEF K
_ " (EEm) FrFRAE30A LI E)
BéjF‘” (EHEFBWI0OALLE) S (£3—1. 3—3, 3—4)
700 } 1 180 — 0O R .
A Jo 53 (1) ERI8E1ADEESHE
e R ] S e o DS TATHRSRESRERL, HE
500 | A 2 ¢ 8 FEEETT401,071FRETER A Lt
1° LA 0.3%38) &7 o1=,
TN ] | / 10 |4 % (2) FHISETADEASME
300 1 1 1° 25 TATHRES IR, AE
200 | 1eo | & FEETT 148685 (BTER A Lt
140 B 0.2%i) L7ao1=,
00 ¢ 120 (3) EHIBETADEASBE
S0 0 I I T DEBRIE#HIL, 1041 (ER125E=
17578 9A 118 184E1 A 3A 58 78 100)&7;91-:0
3 HBEEMMEY (FEH) HEENWEHOKS
(®5—1) oo | F
100.6 1
TRRI8ESADFEMHBEMMIER | 04 {12
1%, #BEHEEA1009CEHKITE=100)T | 1000 | 1 o8
ATA EL0.9%1E, RIER A LLIE1.0%18L | o8 158 —d
#ot=, 2ol e =mllye |22
. 99.2 | U U ]:I gfl bid E
EHBRERGBIERIE, 1002T | 20| £
BTH t£0.2%1%, B4R A IZ0.1%EE | o | b
Y 98.4 112
98.2 + -1.
98.0 ] j:g
11488 | 108 | 12A | 1842 48 | 6A &R =0
4 IRTEIEM
ST EIEROHERE  esumsmw (EEARFER
110.0 110.0 (ERk124=100)
(R4—1,4—2,4-3)
100.0 N 100.0 EFEI 18E7H 0>:Fﬁlﬂ§?ﬁl¥
FEHIL, EEN92.1, HEFA90.6,
— _- — FEEMNT 4L ST,
NN - (1) AEFEIFEIA LL03%IBE =,
90.0 0o |k & i (2) HHFIEETA H0.8%H &=,
(3) FEEIFHETALL1.5%E LT,
80.0 80.0
/I’\/\/\/\/\/\/\/\/\/\/\/\/\/\/\/\/\/\/\/\/\/\/\/\/\/\r
0.0 T T T T T T T T T T T T T 0.0
17478 9A8 1A 18518 38 58 7R




